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[>ìƒ¢[ÅA¡à : Î[k¡A¡ l¡üv¡¹ [>¤¢àW¡> A¡ì¹ >ãìW¡¹ šøÅ—P¡[º¹
l¡üv¡¹ ƒà*¡ú

1. &A¡[i¡ "¸à[Îìl¡¹ Î}ìA¡t¡ Òº HXO2.
"¸à[Îl¡[i¡¹ 0·0242 ë³àìº¹ *\> Òº
1·657 Nøà³¡ú ‘X’-&¹ šà¹³ào[¤A¡ ®¡¹ [A¡
Òì¤?

(A) 35·5

(B) 28·1

(C) 128·0

(D) 19·0

2. &A¡[i¡ ‹àt¡¤ Îàºìó¡ìi¡ 9·87% M ¹ìÚìá¡ú
Îàºìó¡i¡[i¡ ZnSO H O4 27×  &¹ Î³àAõ¡[t¡Î´šÄ¡ú 
M &¹ šà¹³ào[¤A¡ ®¡¹ Òº

(A) 11·3

(B) 24·3

(C) 36·3

(D) 40·3

3. &A¡[i¡ "àìÚàìl¡àì³[i¡öA¡ š[¹³àšìo [>³—[º[Jt¡
[¤[yû¡ÚàP¡[º Qìi¡ :

 2 42
2 2 2Cu I Cu I I+ -+ ® +

 I Na S O NaI Na S O2 2 2 3 2 4 62 2+ ® +

0·12 ë³àº CuSO4 "[t¡[¹v¡û¡ KI ‰¤ìo¹
Î[Òt¡ ë™àK A¡¹à Òº &¤} [>K¢t¡ I2 &¹
šøÅ³ì>¹ \>¸ 120 ml ÒàÒüìšà‰¤ìo¹ šøìÚà\> 
ÒÚ¡ú ÒàÒüìšà‰¤o[i¡¹ ë³àºà¹[i¡ Òº

(A) 0·10

(B) 0·20

(C) 1·0

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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Direction : Answer the following questions

by selecting the correct option.

1. The formula of an acid is HXO2.

The mass of 0·0242 moles of the

acid is 1·657 gm. What will be the

atomic mass of ‘X’?

(A) 35·5

(B) 28·1

(C) 128·0

(D) 19·0

2. A sulphate of metal contains 9·87%

of M. The sulphate is isomorphous

with ZnSO H O4 27× . The atomic mass 

of M is

(A) 11·3

(B) 24·3

(C) 36·3

(D) 40·3

3. In an iodometric estimation, the

following reactions occur :

 2 42
2 2 2Cu I Cu I I+ -+ ® +

 I Na S O NaI Na S O2 2 2 3 2 4 62 2+ ® +

0·12 mole of CuSO4 is added to

excess of KI solution and for the

titration of liberated I2, 120 ml of

hyposolution is required. The

molarity of the hyposolution is

(A) 0·10

(B) 0·20

(C) 1·0

(D) None of the above



4. 1 Nøà³ &A¡[i¡ "àƒÅ¢ K¸àÎ X &¹ 300 K

t¡àš³àyàÚ W¡àš Òº 2 atm. ™J> &A¡Òü
t¡àš³àyàÚ 2 Nøà³ "àì¹A¡[i¡ K¸àÎ Y &A¡Òü šàìy
šøì¤Å A¡¹àì>à ÒÚ, t¡J> W¡àš ÒÚ 3 atm.
X &¤} Y &¹ ë³àºà¹ ®¡ì¹¹ Î[k¡A¡ Î´šA¢¡[i¡ Òº

(A) M MY X= 2

(B) M MX y= 4

(C) M MY X= 4

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

(M X  &¤} MY  Òº X &¤} Y &¹ ë³àºà¹
®¡¹)

5. ƒå[åi¡ óÃ¡àG X &¤} Y &¹ "àÚt¡> Î³à>¡ú X

ëšàÈo A¡ì¹ 300 K t¡àš³àyà &¤} Y A¡ì¹
600 K t¡àš³àyà¡ú X ‹à¹o A¡ì¹ H2 K¸àÎ &¤} 
Y ‹à¹o A¡ì¹ Î³à> ®¡ì¹¹ CO2 K¸àÎ¡ú X &¤} 
Y óÃ¡àìG¹ K¸àìÎ¹ ë³ài¡ K[t¡Å[v¡û¡¹ (KE)

">åšàt¡ ( : )KE KEX Y  Òº

(A) 2 : 1

(B) 11 : 1

(C) 33 : 2

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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4. The pressure of 1 gm of an ideal

gas X  at temperature 300 K is 2 atm.

When 2 gm of another gas Y  is

introduced in the same vessel at

the same temperature, the pressure

becomes 3 atm. The correct relation- 

ship between molar mass of X  and Y

is

(A) M MY X= 2

(B) M MX y= 4

(C) M MY X= 4

(D) None of the above

(M X  and MY  are the molar masses

of X and Y )

5. Two flasks X  and Y  have equal

volume. X  is maintained at 300 K

temperature and Y  at 600 K tempera-

ture. X  contains H2 gas and Y

contains equal mass of CO2 gas. The 

ratio of the total kinetic energy (KE)

of gas in flask X  and in flask Y 

( : )KE KEX Y  is

(A) 2 : 1

(B) 11 : 1

(C) 33 : 2

(D) None of the above



6. ëK-ºåÎàìA¡¹ Îèy ">å™àÚã ëA¡à> ëºJ[i¡ Î[k¡A¡
>Ú?

7.

ƒåÒü[i¡ "àƒÅ¢ K¸àìÎ¹ "ào[¤A¡ P¡¹ç¡Œ ™=àyû¡ì³ 
M1 &¤} M 2, &A¡[i¡ [>[ƒ¢Ê¡ t¡àš³àyàÚ &A¡Òü
®¡ì¹¹ ' ƒåÒü[i¡ K¸àìÎ¹ logV  vs. logP  &¹
ëºJ[W¡y ƒå[i¡ l¡üšì¹ šøƒv¡¡ú Î[k¡A¡ l¡üv¡¹[i¡ Î>àv¡û¡
A¡¹¡ú

(A) M M1 2>

(B) M M1 2=

(C) M M1 2<

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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6. Which is not correct curve for Gay-

Lussac’s law?

7.

For the same mass of two different

ideal gases of molecular weights M1

and M 2, plots of logV  vs. logP  at

a given constant temperature are

shown above. Identify the correct

option.

(A) M M1 2>

(B) M M1 2=

(C) M M1 2<

(D) None of the above

(A)
log P

(B)

(C)

(D)

P

T

T

q=45°

log T

P
T

None of the above

(A)
log P

(B)

(C)

(D)

P

T

T

q=45°

log T

P
T

l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

M1

M2

log P

log V

M1

M2

log P

log V



8. &A¡[i¡ "àÚ>ãÚ A¡[k¡> "GàÒüìl¡ "àÚ>P¡[º
c.c.p. [¤>¸àìÎ "¤Ñ‚à> A¡ì¹¡ú A¡¸ài¡àÚ> A

W¡tå¡ÑzºA¡ãÚ ®¡ìÚìl¡¹ ( )1
8

 "}Å ƒJº A¡ì¹ &¤}

A¡¸ài¡àÚ> B "Ê¡t¡ºA¡ãÚ ®¡ìÚìl¡¹ ( )1
4

 "}Å ƒJº

A¡ì¹¡ú "GàÒül¡[i¡¹ Î}ìA¡t¡ Òº

(A) A BO2 4

(B) AB O2 3

(C) ABO4

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

9. &A¡[i¡ "àÚ>ãÚ ë™ïK AB 2 (CaF2 ‹¹ìo¹)ët¡
A š¹³àoå f.c.c. [¤>¸àìÎ "¤Ñ‚à> A¡ì¹ &¤}
B š¹³àoå Î¤A¡[i¡ W¡tå¡ÑzºA¡ãÚ ®¡ìÚìl¡ "¤Ñ‚à>
A¡ì¹¡ú B -  &¹ ¤¸àÎà‹¢ 200 pm Òìº A2+ &¹ 
"àƒÅ¢ ¤¸àÎà‹¢ Òì¤

(A) 31 pm

(B) 45 pm

(C) 40 pm

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

10. Òã¹ìA¡¹ šø[t¡ Òül¡ü[>i¡ ëÎìº A¡à¤¢> š¹³àoå¹
Î}J¸à[i¡ Òº

(A) 2

(B) 4

(C) 6

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

11. >ãìW¡¹ ëA¡à>ô ëA¡ºàÎ ëÅøoã[i¡ Î¤ìW¡ìÚ ë¤[Å
Î}J¸A¡ Bravais lat tice ‹à¹o A¡ì¹?

(A) Q>A¡

(B) "ì=¢à¹[´¬A¡

(C) i¡öàÒü[AÃ¡[>A¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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8. In an ionic solid oxide ions are

arranged in c.c.p. Cation A occupies 

( )1
8

th of the tetrahedral voids and

cation B  occupies ( )1
4

th of the

octahedral voids. The formula of the

oxide is

(A) A BO2 4

(B) AB O2 3

(C) ABO4

(D) None of the above

9. In an ionic compound AB 2

(CaF2 type) atoms A occupy in f.c.c.

arrangement and atoms B  occupy

in all the tetrahedral voids. If the

radius of B -  is 200 pm, then ideal

radius of A2+  would be

(A) 31 pm

(B) 45 pm

(C) 40 pm

(D) None of the above

10. The number of carbon atoms per

unit cell of diamond is

(A) 2

(B) 4

(C) 6

(D) None of the above

11. Which of the following crystal

systems contains the maximum

number of Bravais lattices?

(A) Cubic

(B) Orthorhombic

(C) Triclinic

(D) None of the above



12. 1 M HCl &¤} 2 M HCl 4 : 1 "àÚt¡>
">åšàìt¡ [³[Åøt¡ A¡¹à Òº¡ú HCl ‰¤o [³Åø>[i¡¹
Wå¡Øl¡à”z ë³àºà[¹[i¡ A¡t¡?

(A) 1·0

(B) 1·2

(C) 1·5

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

13. ™[ƒ ÒüÒà \à>à ™àÚ ë™ Fe O0 96×  &¹ ³ì‹¸
"àÚ¹> +2 &¤} +3 \à¹o "¤Ñ‚àÚ ¤t¢¡³à>,
t¡àÒìº ë™ïK[i¡ìt¡ Fe +2&¹ ë³àº ®¡N—¸à}Å A¡t¡?

(A) 11/12

(B) 12/25

(C) 25/12

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

14. 1 ë³àº H SO2 4&¹ Î[Òt¡ "[t¡[¹v¡û¡ Û¡à¹ ë™àK 
A¡ì¹ Î´šèo¢ šøÅ³ì>¹ Î³Ú [>K¢t¡ t¡àìš¹
š[¹³ào Òº

(A) 6·85 kcal

(B) 13·7 kcal

(C) 27·4 kcal

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

15. ÎàÒüìAÃ¡àìÒ[Gì>¹ ÒàÒüìl¡öàì\ì>Åì>¹ t¡àš
–119·5 kJ mol-1. ™[ƒ ë¤>[\ì>¹
ë¹ì\àì>X Å[v¡û¡ –150·4 kJ mol-1 ÒÚ,
t¡àÒìº ÒüÒà¹ ÒàÒüìl¡öàì\ì>Åì>¹ t¡àš Òì¤

(A) – 208·1 kJ mol-1

(B) – 269·1 kJ mol-1

(C) – 358·5 kJ mol-1

(D) – 508·9 kJ mol-1
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12. 1 M HCl and 2 M HCl are mixed in

volume of ratio 4 : 1. What is the

final molarity of mixed HCl solution?

(A) 1·0

(B) 1·2

(C) 1·5

(D) None of the above

13. If it is known that in Fe O0 96× , iron is

present in +2 and +3 oxidation state, 

then what is the mole fraction of 

Fe +2 in the compound?

(A) 11/12

(B) 12/25

(C) 25/12

(D) None of the above

14. The amount of heat released during

complete neutralization of 1 mole of 

H SO2 4 with excess base is

(A) 6·85 kcal

(B) 13·7 kcal

(C) 27·4 kcal

(D) None of the above

15. The heat of hydrogenation of

cyclohexene is –119·5 kJ mol-1. If

the resonance energy of benzene

is –150·4 kJ mol-1, then its heat of

hydrogenation will be

(A) – 208·1 kJ mol-1

(B) – 269·1 kJ mol-1

(C) – 358·5 kJ mol-1

(D) – 508·9 kJ mol-1



16. 300 K t¡àš³àyàÚ A O l AO g2 4 22( ) ( )®

[¤[yû¡Úà[i¡¹ \>¸ DE = 2·1 kcal,
DS = 20 cal K -1. &Jà> ë=ìA¡ DG (&A¡
ƒÅ[³A¡ š™¢”z) Òº

(A) 2·7 kcal

(B) – 2·7 kcal

(C) 9·3 kcal

(D) – 9·3 kcal

17. ƒåÒü ë³àº &A¡[i¡ "àƒÅ¢ K¸àÎ Î³t¡àšãÚ &¤}
š¹à¤t¢¡ š‡ý¡[t¡ìt¡ 300 K t¡àš³àyàÚ 1 [ºi¡à¹
ë=ìA¡ šøÎà[¹t¡ A¡ì¹ 10 [ºi¡à¹ A¡¹à Òº¡ú
šø[yû¡Úà[i¡¹ \>¸ &>=º[š¹ š[¹¤t¢¡> (kJ ët¡)
Òº

(A) 11·4

(B) –11·4

(C) 0

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

18. XY2 >ãìW¡¹ Î³ãA¡¹o³t¡ [¤®¡à[\t¡ ÒÚ

 XY XY Y2( ) ( ) ( )g g g, +

XY2&¹ šøà=[³A¡ W¡àš Òº 600 mmHg.
Îà³¸à¤Ñ‚àÚ ë³ài¡ W¡àš Òº 800 mmHg. ‹ì¹
ë>*Úà ÒÚ [ÎìÐ¡³[i¡¹ "àÚt¡> "š[¹¤t¢¡ãt¡,
K P &¹ ³à>[i¡ Òì¤

(A) 20

(B) 50

(C) 100

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

19. >ãìW¡¹ ëA¡à>ô [¤[yû¡Úà[i¡¹ \>¸ [Ñ‚¹ W¡àš *
t¡àš³àyàÚ Îà³¸à¤Ñ‚àìt¡ [>[ÍI¡Ú K¸àÎ šøì¤Å
A¡¹àìº Î–µåJ³åJã [¤[yû¡Úà ">åAå¡ìº ™àÚ?

(A) N g H g NH g2 2 33 2( ) ( ) ( )+ ,

(B) PCl g PCl g Cl g5 3 2( ) ( ) ( ), +

(C) CO g H O g CO g H g( ) ( ) ( ) ( )+ +2 2 2,

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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16. For the reaction

A O l AO g2 4 22( ) ( )®

DE = 2·1 kcal, DS = 20 cal K -1 at

300 K. Hence DG (up to one decimal) 

is

(A) 2·7 kcal

(B) – 2·7 kcal

(C) 9·3 kcal

(D) – 9·3 kcal

17. Two moles of an ideal gas is

expanded isothermally and reversibly

from 1 litre to 10 litre at 300 K. The

enthalpy change (in kJ) for the

process is

(A) 11·4

(B) –11·4

(C) 0

(D) None of the above

18. XY2 dissociates as below equation

   XY XY Y2( ) ( ) ( )g g g, +

Initial pressure of XY2 is

600 mmHg. The total pressure at

equilibrium is 800 mmHg. Assuming 

volume of the system remains

constant, the value of K P  is

(A) 20

(B) 50

(C) 100

(D) None of the above

19. For which of the following reactions

the forward reaction at constant

temperature and pressure is

favoured due to introduction of inert 

gas at equilibrium?

(A) N g H g NH g2 2 33 2( ) ( ) ( )+ ,

(B) PCl g PCl g Cl g5 3 2( ) ( ) ( ), +

(C) CO g H O g CO g H g( ) ( ) ( ) ( )+ +2 2 2,

(D) None of the above



20. Î´šõv¡û¡ Ba OH( )2 ‰¤ìo¹ pH Òº 12. 
Ba OH( )2&¹ K sp&¹ ³à>[i¡ Òº

(A) 5 0 10 7× ´ -

(B) 3 3 10 7× ´ -

(C) 5 0 10 6× ´ -

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

21. >ãìW¡¹ ëA¡à>ô ‰¤o [³Åøo[i¡ ¤àó¡à¹ ‰¤o [ÒÎàì¤
A¡à\ A¡ì¹?

(A) 50 ml 0·1( )N  CH COOH3 +

       50 ml 0·1( )N  NaOH

(B) 50 ml 0·1( )N  CH COOH3 +

       50 ml 0·2( )N  NaOH

(C) 50 ml 0·1( )N  CH COOH3 +

      50 ml 0·1( )N  NH OH4

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

22. HCOONH4&¹ \ºãÚ ‰¤ìo¹ pH

(HCOOH &¹ \>¸ p aK = 3·8 &¤}
NH3&¹ \>¸ p bK  = 4·8) Òº

(A) 7·5

(B) 6·5

(C) 7·0

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

23. &A¡[i¡ "´Ã-Û¡à¹ [>ìƒ¢ÅìA¡¹ 
K HIn = × ´ -3 0 10 5. [>ìƒ¢ÅA¡[i¡¹ "à[´ÃA¡

¹ê¡š[i¡ Òº ºàº &¤} Û¡à¹ãÚ ¹ê¡š[i¡ Òº >ãº¡ú
[>ìƒ¢ÅA¡[i¡ìA¡ 75% ºàº ë=ìA¡ 75% >ãìº
š[¹¤[t¢¡t¡ A¡¹ìt¡ [ ]H+  &¹ ë™ š[¹¤t¢¡> šøìÚà\> 

t¡à Òº

(A) 1 10 5´ - M

(B) 8 10 5´ - M

(C) 9 10 5´ - M

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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20. The pH of a saturated solution of 

Ba OH( )2 is 12. The value of K sp of 

Ba OH( )2 is

(A) 5 0 10 7× ´ -

(B) 3 3 10 7× ´ -

(C) 5 0 10 6× ´ -

(D) None of the above

21. Which of the following solution

mixtures acts as buffer solution?

(A) 50 ml 0·1( )N  CH COOH3 +

       50 ml 0·1( )N  NaOH

(B) 50 ml 0·1( )N  CH COOH3 +

       50 ml 0·2( )N  NaOH

(C) 50 ml 0·1( )N  CH COOH3 +

      50 ml 0·1( )N  NH OH4

(D) None of the above

22. The pH of aqueous solution of 

HCOONH4 (p aK  for HCOOH = 3·8

and p bK  for NH3 = 4·8) is

(A) 7·5

(B) 6·5

(C) 7·0

(D) None of the above

23. An acid-base indicator has 

K HIn = × ´ -3 0 10 5. The acid form of

the indicator is red and the basic

form is blue. The change in [ ]H+

required to change the indicator

from 75% red to 75% blue is

(A) 1 10 5´ - M

(B) 8 10 5´ - M

(C) 9 10 5´ - M

(D) None of the above



24. &A¡[i¡ ÒàÒüìl¡öàì\> ÒüìºC¡öl¡ ™à¹ pH = 10.
&A¡[i¡ ‰¤ìo¹ Î}ÑšìÅ¢ "àìá ÒüìºC¡öl¡[i¡¹ [¤®¡¤
Òì¤ (PH2

1=  atm)

(A) – 0·059 V

(B) – 0·295 V

(C) – 0·591 V

(D) 0·591 V

25. A¡t¡P¡[º "‹¢ìA¡àìÈ¹ šø³ào [¤\à¹o [¤®¡ì¤¹ ³à>
>ãìW¡ ëƒ*Úà Òº

MnO Mn V4
2 1 51- + = ×/

Cr O Cr V2 7
2 32 1 33- + = ×/

Fe Fe V3 2 0 77+ + = ×/

Cl Cl V2 2 1 36/ - = ×

\ºãÚ Fe NO( )3 2&¹ š[¹³àoKt¡ š[¹³àšo
šøÎìU >ãìW¡¹ "Ît¡¸ ¤v¡û¡¤¸[i¡ Î>àv¡û¡ A¡¹¡ú

(A) \ºãÚ HCl ³à‹¸ì³ MnO4
-  ¤¸¤Òà¹ A¡¹à

™àì¤

(B) \ºãÚ HCl ³à‹¸ì³ Cr O2 7
2-  ¤¸¤Òà¹ A¡¹à 

™àì¤

(C) \ºãÚ H SO2 4 ³à‹¸ì³ MnO4
-  ¤¸¤Òà¹

A¡¹à ™àì¤

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

26. šøƒv¡ ëÎìº¹ \>¸ e.m.f. [A¡ Òì¤?

 Pt H g H aq H g Pt| ( , )| ( )| ( , )|2 1 2 2P P+

(A)
RT

F

P

P2
1

2
ln

(B)
RT

F

P

P
ln 1

2

(C)
RT

F

P

P
ln 2

1

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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24. The potential of a hydrogen electrode

in contact with a solution whose pH

is 10 (PH2
1=  atm) will be

(A) – 0·059 V

(B) – 0·295 V

(C) – 0·591 V

(D) 0·591 V

25. The standard reduction potentials

of some half-cell reaction are

given below

MnO Mn V4
2 1 51- + = ×/

Cr O Cr V2 7
2 32 1 33- + = ×/

Fe Fe V3 2 0 77+ + = ×/

Cl Cl V2 2 1 36/ - = ×

Identify the incorrect statement

regarding quantitative estimation of

aqueous Fe NO( )3 2.

(A) MnO4
-  can be used in aqueous

HCl medium

(B) Cr O2 7
2-  can be used in aqueous

HCl medium

(C) MnO4
-  can be used in aqueous 

H SO2 4 medium

(D) None of the above

26. What will be the e.m.f. for the

given cell?

   Pt H g H aq H g Pt| ( , )| ( )| ( , )|2 1 2 2P P+

(A)
RT

F

P

P2
1

2
ln

(B)
RT

F

P

P
ln 1

2

(C)
RT

F

P

P
ln 2

1

(D) None of the above



27. 298 K t¡àš³àyàÚ 0·01 ( )N  NaCl ‰¤ìo¹
ë¹à‹ Òº 200 ohm. š[¹¤àÒãt¡à ëÎìº¹ ëA¡àÈ
‹øç¡¤ìA¡¹ ³à> &A¡¡ú tå¡º¸àS¡ š[¹¤àÒãt¡à Ko>à A¡¹
(ohm cm eqv- -1 2 1).

(A) 5 10 3´ -

(B) 2 102´

(C) 5 102´

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

28. [t¡>[i¡ t¡[Øl¡; [¤ìÅÃìÈ¸¹ \>¸ ë³àºà¹ š[¹¤àÒãt¡à 
LmëA¡ c  (mol L-1) [¤š¹ãìt¡ šÃi¡ A¡¹à Òº¡ú 

>ãìW¡¹ ëA¡à>[i¡ Î[k¡A¡?

 (1)   (2)     (3)

(A) BaCl2  HCl   NH OH4

(B) HCl   BaCl2  NH OH4

(C) NH OH4   NaCl   HCl

(D) NH OH4   HCl   NaCl

29. ƒå[i¡ [¤[yû¡ÚàÚ "à¹ìÒ[>ÚàÎ ëºJ I &¤} II,
ëºJ[W¡ìy šøƒ[Å¢t¡ Òº

ëºJ[W¡y[i¡ šøÑzà¤ A¡ì¹ ë™

(A) E EI II>  &¤} A AI II>

(B) E EII I>  &¤} A AII I>

(C) E EI II>  &¤} A AII I>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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27. The resistance of 0·01 ( )N  NaCl

solution at 298 K is 200 ohm. Cell

constant of the conductivity cell

is unity. Calculate the equivalent

conductance (ohm cm eqv- -1 2 1).

(A) 5 10 3´ -

(B) 2 102´

(C) 5 102´

(D) None of the above

28. The molar conductance Lm  is

plotted against c (mol L-1) for three 

electrolytes. Which of the following

is correct?

 (1)   (2)     (3)

(A) BaCl2  HCl   NH OH4

(B) HCl   BaCl2  NH OH4

(C) NH OH4   NaCl   HCl

(D) NH OH4   HCl   NaCl

29. The Arrhenius plots of two reactions,

I and II are shown graphically

The graph suggests that

(A) E EI II>  and A AI II>

(B) E EII I>  and A AII I>

(C) E EI II>  and A AII I>

(D) None of the above

(1)
(2)
(3)

Lm

Öc

(1)
(2)
(3)

Lm

Öc

I

IIlnk

1
T

I

IIlnk

1
T



30. &A¡[i¡ Åè>¸yû¡³ [¤[yû¡Úà¹ \>¸ Òà¹ ‹øç¡¤A¡ Òº K.
[¤[yû¡ÚìA¡¹ Q>Œ vs. Î³ìÚ¹ ëºJ[W¡ìy¹ >[t¡
Òº

(A)
K

2 303×

(B) -K

(C) K

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

31. &A¡[i¡ [¤[yû¡Úà¹ Òà¹ Î³ãA¡¹o [>³—¹ê¡ìš šøA¡àÅ
A¡¹à Òº

 + = - = + = -
1

2

1

3

1

4

d C

dt

d D

dt

d A

dt

d B

dt

[ ] [ ] [ ] [ ]

[¤[yû¡Úà[i¡ Òº

(A) 4 2 3A B C D+ ® +

(B) 2 3A B C D+ ® +

(C) B D A C+ ® +3 4 2

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

32. &A¡[i¡ ">å³à>[Î‡ý¡ [¤[yû¡Úà A B AB2 2 2+ ® , 
>ãìW¡ šøƒv¡ A¡ºàìA¡ïÅº ">åÎ¹o A¡ì¹

A A2 2,  (fast)

A B AB B+ ® +2  (slow)

A B AB+ ®  (fast)

[¤[yû¡Úà[i¡¹ Îà[¤¢A¡ yû¡³[i¡ Òì¤

(A) 3/2

(B) 2

(C) 1

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

33. 2 22 2 2NO F NO F+ ®  K¸àÎãÚ ƒÅà¹
[¤[yû¡Úà¹ \>¸ Òà¹ ‹øç¡¤A¡[i¡¹ ³à> Òº 
38 3 1 1dm mol s- -  300 K t¡àš³àyàÚ¡ú

[¤[yû¡Úà[i¡¹ yû¡³[i¡ Òº

(A) 0

(B) 1

(C) 2

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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30. For a zero-order reaction, rate

constant is K. The slope of the plot

of reactant concentration vs. time is

(A)
K

2 303×

(B) -K

(C) K

(D) None of the above

31. The rate equation of a reaction is

expressed as follows

  + = - = + = -
1

2

1

3

1

4

d C

dt

d D

dt

d A

dt

d B

dt

[ ] [ ] [ ] [ ]

The reaction is

(A) 4 2 3A B C D+ ® +

(B) 2 3A B C D+ ® +

(C) B D A C+ ® +3 4 2

(D) None of the above

32. A hypothetical reaction 

A B AB2 2 2+ ® , follows the

mechanism as given below

A A2 2,  (fast)

A B AB B+ ® +2  (slow)

A B AB+ ®  (fast)

The overall order of the reaction

will be

(A) 3/2

(B) 2

(C) 1

(D) None of the above

33. The value of the rate constant

for the gas phase reaction

2 22 2 2NO F NO F+ ®

is 38 dm3 mol s- -1 1 at 300 K. The

order of the reaction is

(A) 0

(B) 1

(C) 2

(D) None of the above



34. &A¡Òü t¡àš³àyàÚ Î³-"[®¡Îà¹A¡ ‰¤o ë\àØl¡[i¡ìA¡
Î>àv¡û¡ A¡¹, ‹ì¹ >à* \ºãÚ ‰¤ìo šø[t¡[i¡ ë™ïK
Î´šèo¢ [¤ìÚà[\t¡ "àìá¡ú

(A) 0·03 M NaCl &¤} 0·02 M MgCl2

(B) 0·01 M Òül¡ü[¹Úà &¤} 0·01 M NaCl

(C) 0·02 M NaCl &¤} 0·01 M Na SO2 4

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

35. ƒåÒü[i¡ t¡¹ìº¹ &A¡[i¡ "¸à[\*i¡ö[šA¡ [³Åøìo¹
Ñ£å¡i¡>àS¡ t¡àìƒ¹ ƒåÒü-&¹ ë=ìA¡ ™J> ë¤Åã t¡J>
ÒüÒà

(A) ¹àl¡üìÂi¡¹ Îèy ë=ìA¡ ‹>àŒA¡ [¤Wå¡¸[t¡ šøƒÅ¢>
A¡ì¹

(B) ¹àl¡üìÂi¡¹ Îèy ë=ìA¡ ˜¡oàŒA¡ [¤Wå¡¸[t¡ šøƒÅ¢> 
A¡ì¹

(C) "àƒÅ¢ "àW¡¹o A¡ì¹

(D) Î´šõv¡û¡ ÒÚ

36. >ãìW¡¹ ëA¡à> ëºJ[W¡y[i¡ ëÒ>>ã¹ Îèy[i¡ìA¡ ¤o¢>à
A¡ì¹?
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34. Assuming the compounds to be

completely dissociated in aqueous

solution, identify the pairs of the

solution that can be expected to be

isotonic at the same temperature.

(A) 0·03 M NaCl and 0·02 M MgCl2

(B) 0·01 M urea and 0·01 M NaCl

(C) 0·02 M NaCl and 0·01 M Na SO2 4

(D) None of the above

35. An azeotropic mixture of two liquids

has a boiling point higher than

either of them, when it

(A) shows positive deviation from

Raoult’s law

(B) shows negative deviation from

Raoult’s law

(C) shows ideal behaviour

(D) is saturated

36. Which of the following curves

represents the Henry’s law?

(A)

(B)

(C)

(D)

log M

log P

log M

log P

log M

log P

log M

log P

(A)

(B)

(C)

(D)

log M

log P

log M

log P

log M

log P

log M

log P



37. 3 60× M  H SO2 4 ‰¤ìo¹ Q>Œ (g mL-1

ët¡) A¡t¡ Òì¤ ™à¹ *\>Kt¡ Åt¡A¡¹à ³àyà 29?

(A) 1·45

(B) 1·64

(C) 1·88

(D) 1·22

38. ƒå[i¡ t¡¹º A &¤} B &¹ PA
0 * PB

0&¹ ">åšàt¡ 

Òº 1 : 3 &¤} t¡¹ìº A * B &¹ ë³àº
Î}J¸à¹ ">åšàt¡ 1 : 3. ¤àÍšãÚ ƒÅàÚ A &¹
ë³àº ®¡N—à}Å ™à t¡¹ìº¹ ÎìU Îà³¸à¤Ñ‚àÚ "àìá,
t¡à Òì¤

(A) 0·1

(B) 0·2

(C) 0·5

(D) 1·0

39. óø¡ìÚ“¡[ºìÅ¹ Î[k¡A¡ "[‹ìÅàÈo Î³t¡àšãÚ
Î³ãA¡¹o[i¡ Òº

(A) log log logx
m P

k
P= +

1

(B) log log logx
m k

n
P= +

1

(C) log log logm
x k

n
P= +

1

(D) log log logx
m P

n
k= +

1

40. >ãìW¡¹ [¤[yû¡ÚàÅõTìº

x &¤} y Òº, ™=àyû¡ì³

(A) l¡àÚàìÐ¡\ &¤} Òü>®¡àìi¢¡\

(B) \àÒüì³\ &¤} ³ìÂi¡à\

(C) l¡àÚàìÐ¡\ &¤} ³ºìi¡\

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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37. The  density  (in g mL-1)  of   3 60× M

H SO2 4 solution that is 29% H SO2 4

by mass will be

(A) 1·45

(B) 1·64

(C) 1·88

(D) 1·22

38. Two liquids A and B  have PA
0 and PB

0

in the ratio of 1 : 3 and the ratio of

number of moles of A and B  in liquid 

phase is 1 : 3. Then the mole

fraction of A in vapour phase in

equilibrium with the solution is

equal to

(A) 0·1

(B) 0·2

(C) 0·5

(D) 1·0

39. The correct equation for Freundlich

adsorption isotherm is

(A) log log logx
m P

k
P= +

1

(B) log log logx
m k

n
P= +

1

(C) log log logm
x k

n
P= +

1

(D) log log logx
m P

n
k= +

1

40. In the following reaction sequence

x and y are respectively

(A) diastase and invertase

(B) zymase and maltose

(C) diastase and maltase

(D) None of the above

(C H O )  + nH O56 10 n 2
x

C H O1112 22

Starch Maltose

y

2C H O66 12

Glucose

(C H O )  + nH O56 10 n 2
x

C H O1112 22

y

2C H O66 12

Ð¡àW¡¢

NÃåìA¡à\

³ìÂi¡à\



41. KI ‰¤ìo AgNO3 ‰¤o ë™àK A¡¹ìº &A¡[i¡
˜¡oàŒA¡ "à‹à>™åv¡û¡ A¡ºìÚl¡ šà*Úà ™àÚ, ™J>
t¡à¹à >ãìW¡¹ ">åšàìt¡ =àìA¡

(A) 50 ml 0·1 M AgNO3 +

        50 ml 0·1 M KI

(B) 50 ml 0·1 M AgNO3 +

        50 ml 0·2 M KI

(C) 50 ml 0·2 M AgNO3 +

        50 ml 0·1 M KI

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

42. Fe OH( )3 Îìº¹ ÒüìºìC¡öà-"Îì³à[ÎìÎ¹ Î³Ú

(A) Îº A¡oà A¡¸àì=àìl¡¹ [ƒìA¡ ‹à[¤t¡ ÒÚ

(B) [¤Ñzà¹ ³à‹¸³[i¡ "¸àì>àìl¡¹ [ƒìA¡ ‹à[¤t¡ ÒÚ

(C) [¤Ñzà¹ ³à‹¸³[i¡ A¡¸àì=àìl¡¹ [ƒìA¡ ‹à[¤t¡ ÒÚ

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

43. As S2 3 Îìº¹ t¡e¡ì>¹ \>¸ >ãìW¡¹ t¡[Øl¡;
[¤ìÅÃÈ¸P¡[º¹ t¡e¡> Û¡³t¡à¹ yû¡³[i¡ Òº

   
K SO2 4

I
  

CaCl2

II
  

Na PO3 4

III
  

AlCl3

IV

(A) I II III IV< < <

(B) III IV I II< < <

(C) II III IV I< < <

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

44. >>-¤àìÚà[l¡ìNøìl¡ì¤º š[º³à¹[i¡ Òº

(A) PHBV

(B) >àÒüº>-2, 6

(C) NÃàÒüA¡[ºA¡ "¸à[Îl¡ * º¸àA¡[i¡A¡ "¸à[Îìl¡¹
š[º³à¹

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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41. On adding AgNO3 solution into

KI solution, a negatively charged

colloidal sol is obtained, when they

are in the following ratio

(A) 50 ml 0·1 M AgNO3 +

        50 ml 0·1 M KI

(B) 50 ml 0·1 M AgNO3 +

        50 ml 0·2 M KI

(C) 50 ml 0·2 M AgNO3 +

        50 ml 0·1 M KI

(D) None of the above

42. During electro-osmosis of Fe OH( )3
sol

(A) sol particles move towards

cathode

(B) the dispersion medium moves

towards anode

(C) the dispersion medium moves

towards cathode

(D) None of the above

43. The increasing order of coagulation

power of the following electrolyte for

coagulation of As S2 3 sol is

      
K SO2 4

I
  

CaCl2

II
  

Na PO3 4

III
  

AlCl3

IV

(A) I II III IV< < <

(B) III IV I II< < <

(C) II III IV I< < <

(D) None of the above

44. The non-biodegradable polymer is

(A) PHBV

(B) Nylon-2, 6

(C) polymer of glycolic acid and

lactic acid

(D) None of the above



45. ™[ƒ N N N1 2 3, , , L "oå¹ Î}J¸à ÒÚ, ™àìƒ¹ 
"ào[¤A¡ *\> ™=àyû¡ì³ M M M1 2 3, , , L,
t¡J> t¡àìƒ¹ *\> KØl¡ "ào[¤A¡ *\> Òì¤

(A)
N M

N M

i i

i i

2

S
å

(B)
N M

N
i i

iS
å

(C)
N M

M
i i

iS
å

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

46. >ãìW¡¹ ëA¡à>[i¡ &A¡[i¡ ëA¡à-š[º³àì¹¹ l¡üƒàÒ¹o?

(A) ¤å>à-S

(B) PAN

(C) PTFE

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

47. >ãìW¡¹ ëA¡à>[i¡ =àì³¢àìÎ[i¡} š[º³à¹ >Ú?

(A) ëi¡ó¡º>

(B) ë¤ìA¡ºàÒüi¡

(C) ë³º³¸àA¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

48. He + &¹ W¡tå¡=¢ &¤} tõ¡t¡ãÚ ë¤à¹ A¡ìÛ¡¹ ƒè¹Œ Òº

(A) 2 64 10 10× ´ - m

(B) 1 32 10 10× ´ - m

(C) 1 85 10 10× ´ - m

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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45. If N N N1 2 3, , , L are the number of

molecules with molecular weights 

M M M1 2 3, , , L respectively, then

weight average molecular weight is

(A)
N M

N M

i i

i i

2

S
å

(B)
N M

N
i i

iS
å

(C)
N M

M
i i

iS
å

(D) None of the above

46. Which of the following is an example 

of copolymer?

(A) Buna-S

(B) PAN

(C) PTFE

(D) None of the above

47. Which of the following is not

thermosetting polymer?

(A) Teflon

(B) Bakelite

(C) Melmac

(D) None of the above

48. The distance between 4th and 3rd

Bohr orbits of He +  is

(A) 2 64 10 10× ´ - m

(B) 1 32 10 10× ´ - m

(C) 1 85 10 10× ´ - m

(D) None of the above



49. Be 3+ &¤} &A¡[i¡ ëšøài¡>ìA¡ &A¡Òü [¤®¡¤ [ƒìÚ
t¡¹à[Þt¡ A¡¹à Òº¡ú ÒüÒàìƒ¹ [l¡. ¤øK[º t¡¹UîƒìQ¢¸¹
">åšàt¡ ÒìZá (‹¹à ÒÚ ëšøài¡ì>¹
®¡¹ = [>l¡üi¡öì>¹ ®¡¹)

(A) 1 : 2

(B) 1 : 4

(C) 1 : 1

(D) 1 3 3:

50. He +  "àÚì>¹ [º³¸à> [Î[¹ì\ &A¡[i¡ ºàÒüì>¹
Î¤¢à[‹A¡ t¡¹UîƒQ¢̧ [i¡ [A¡ Òì¤?

(A) 3R

(B)
1

3R

(C)
3

4
R

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

51. ÒàÒüìl¡öàì\> š¹³àoå¹ ëÅøà[l¡>\à¹ t¡¹U
Î³ãA¡¹o[i¡ Òº

y
p

2
0

3 2

0

1

4 2

1
2 0

s
r a

a

r

a
e=

æ

è
ç

ö

ø
÷ -

æ

è
ç

ö

ø
÷

-
/

/

ë™Jàì> a0 Òº ë¤à¹ A¡ìÛ¡¹ ¤¸àÎà‹¢¡ú ™[ƒ
2s &¹ ë¹[l¡Úàº ë>àl¡[i¡ r0ët¡ ÒÚ, t¡àÒìº r0

Òì¤

(A) a0 2/

(B) 2 0a

(C) 2 0a

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

52. Li, F, Na &¤} Si šà¹³ào[¤A¡ ¤¸àÎàì‹¢¹ ë™
yû¡³[i¡ ">åÎ¹o A¡ì¹

(A) Na > Li > Si > F

(B) Si > Li > Na > F

(C) Na > Si > F > Li

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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49. Be 3+  and a proton are accelerated by

the same potential. Their de Broglie

wavelengths have the ratio (assume

mass of proton = mass of neutron)

(A) 1 : 2

(B) 1 : 4

(C) 1 : 1

(D) 1 3 3:

50. What is the maximum wavelength

of a line in the Lyman series of He +

ion?

(A) 3R

(B)
1

3R

(C)
3

4
R

(D) None of the above

51. The Schrödinger wave equation for

hydrogen atom is

y
p

2
0

3 2

0

1

4 2

1
2 0

s
r a

a

r

a
e=

æ

è
ç

ö

ø
÷ -

æ

è
ç

ö

ø
÷

-
/

/

where a0 is the Bohr’s radius. If the

radial node in 2s be at r0, then r0

will be

(A) a0 2/

(B) 2 0a

(C) 2 0a

(D) None of the above

52. The atomic radii of Li, F, Na and Si

follow the order

(A) Na > Li > Si > F

(B) Si > Li > Na > F

(C) Na > Si > F > Li

(D) None of the above



53. K, Au, Zn &¤} Pb ‹àtå¡P¡[º [¤\à¹o
Û¡³t¡à¹ ë™ yû¡³[i¡ ">åÎ¹o A¡ì¹

(A) K > Pb > Au > Zn

(B) Pb > K > Zn > Au

(C) K > Zn > Pb > Au

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

54. Gd (šà¹³ào[¤A¡ Î}J¸à 64)&¹ ÒüìºC¡ö>
[¤>¸àÎ[i¡ Òº

(A) [ ]Xe 4 5 63 5 2f d s

(B) [ ]Xe 4 5 67 2 1f d s

(C) [ ]Xe 4 5 68 6 2f d s

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

55. >ãìW¡¹ "àA¡à¹ ¤õ[‡ý¡¹ Î[k¡A¡ yû¡³[i¡ Î>àv¡û¡ A¡¹ :

(A) Cu Ni Co Fe+ + + +< < <2 2 2 2

(B) Fe Co Ni Cu+ + + +< < <2 2 2 2

(C) Ni Co Fe Cu+ + + +< < <2 2 2 2

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

56. >ãìW¡¹ ëA¡à>ô "oå[i¡¹ Î¤ ¤Þê¡>P¡[º Î³à> >Ú?

(A) PCl5

(B) XeF4

(C) SiF4

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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53. The reducing ability of the metals

K, Au, Zn and Pb follows the order

(A) K > Pb > Au > Zn

(B) Pb > K > Zn > Au

(C) K > Zn > Pb > Au

(D) None of the above

54. The electronic configuration of Gd

(atomic number 64) is

(A) [ ]Xe 4 5 63 5 2f d s

(B) [ ]Xe 4 5 67 2 1f d s

(C) [ ]Xe 4 5 68 6 2f d s

(D) None of the above

55. Identify the correct order of the size

of the following :

(A) Cu Ni Co Fe+ + + +< < <2 2 2 2

(B) Fe Co Ni Cu+ + + +< < <2 2 2 2

(C) Ni Co Fe Cu+ + + +< < <2 2 2 2

(D) None of the above

56. In which of the following molecules

all the bonds are not equal?

(A) PCl5

(B) XeF4

(C) SiF4

(D) None of the above



57. XeO F3 2 "oå[i¡¹ "àAõ¡[t¡ Òº

(A) [¤Aõ¡t¡ W¡tå¡ÑzºA¡ãÚ

(B) Î³t¡ºãÚ ¤K¢àAõ¡[t¡

(C) [yìA¡àoãÚ [‡[š¹à[³l¡ãÚ

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

58. >ãìW¡¹ ëA¡à>ô "oå[i¡ ‹øç¡¤ãÚ?

(A) SiF4

(B) XeF4

(C) BF3

(D) SF4

59. >ãìW¡¹ ëA¡à>ô ë\àØl¡[i¡ Î³Î}J¸A¡ ÒüìºC¡ö> Î³[Þt¡
&¤} &A¡Òü¹A¡³ \¸à[³[t¡A¡ Kk¡>™åv¡û¡?

(A) ClO CO3 3
2- -,

(B) SO NO3
2

3
- -,

(C) CO NO3
2

3
- -,

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

60. "oå[i¡ìt¡, Nt  &¤} Nc &¹ l¡üš¹
ó¡³¢àº W¡à\¢ Òº ™=àyû¡ì³

(A) + -1 1,

(B) - +1 1,

(C) -1 0,

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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57. The shape of the molecule XeO F3 2 is

(A) distorted tetrahedral

(B) square planar

(C) trigonal bipyramidal

(D) None of the above

58. Which of the following is a polar

molecule?

(A) SiF4

(B) XeF4

(C) BF3

(D) SF4

59. Which of the following pairs are

isoelectronic and isostructural?

(A) ClO CO3 3
2- -,

(B) SO NO3
2

3
- -,

(C) CO NO3
2

3
- -,

(D) None of the above

60. In the molecule , the

formal charge on Nt  and Nc

respectively are

(A) + -1 1,

(B) - +1 1,

(C) -1 0,

(D) None of the above

N =N =Ot c
..
..

..
..

N =N =Ot c
..
..

..
..



61. CrO8
3-&¹ ³ì‹¸ Cr &¹ \à¹o Ñz¹[i¡ Òº

(A) 5

(B) 6

(C) 8

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

62. KMnO4&¹ ("ào[¤A¡ *\> M) tå¡º¸àS¡ ®¡à¹,
™J> ÒüÒà "à[´ÃA¡, šøÅ³ &¤} Û¡à¹ãÚ ³à‹¸ì³
\à¹A¡ ‰¤¸ [ÒÎàì¤ A¡à\ A¡ì¹, ™=àyû¡ì³ Òì¤

(A) M
M M

, ,
3 5

(B)
M M

M
5 3

, ,

(C)
M

M
M

5 3
, ,

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

63. ¹àÎàÚ[>A¡ [¤[yû¡Úà[i¡ìt¡

 K Cr O H SO SO2 2 7 2 4 2+ + ®a b   

   K SO Cr SO H O2 4 2 4 3 2+ +( ) c

a b c x+ + = , x &¹ ³à>[i¡ Òº

(A) 8

(B) 5

(C) 9

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

64. S O4 6
2-& ƒå[i¡ S-š¹³àoå¹ \à¹o Î}J¸à¹

šà=¢A¡¸[i¡ Òº

(A) 2·5

(B) 5

(C) 6

(D) 0
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61. The oxidation state of Cr in CrO8
3-  is

(A) 5

(B) 6

(C) 8

(D) None of the above

62. The equivalent weight of KMnO4

(molecular weight M ), when it acts

as oxidizing agent in acidic, neutral

and alkaline medium respectively,

are

(A) M
M M

, ,
3 5

(B)
M M

M
5 3

, ,

(C)
M

M
M

5 3
, ,

(D) None of the above

63. In the chemical reaction

 K Cr O H SO SO2 2 7 2 4 2+ + ®a b   

   K SO Cr SO H O2 4 2 4 3 2+ +( ) c

a b c x+ + = , the value of x is

(A) 8

(B) 5

(C) 9

(D) None of the above

64. The difference in the oxidation

number of the two S-atom in S O4 6
2-

is

(A) 2·5

(B) 5

(C) 6

(D) 0



65.           Ag S NaCN2 + ® A;

          A B+ ®Zn ; B Òº &A¡[i¡ ‹àtå¡¡ú

&Jàì> A &¤} B Òº ™=àyû¡ì³

(A) Na Zn CN Zn2 4[ ( ) ],

(B) Na Ag CN Ag[ ( ) ],2

(C) Na Ag CN Ag3 4[ ( ) ],

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

66. >ãìW¡¹ ëA¡à>ô ‹àtå¡ ë\àØl¡[i¡ ®¡¸à> "à¹ìA¡º
š‡ý¡[t¡ìt¡ š[¹ìÅà‹> A¡¹à ÒÚ?

(A) V &¤} In

(B) Zr &¤} Ti

(C) Th &¤} Au

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

67. 1 5× ( )N  H O2 2 ‰¤ìo¹ "àÚt¡> ³àyà Òº

(A) 8·4

(B) 8·8

(C) 4·8

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

68. >ãìW¡¹ ëA¡à>[i¡ H O2 2&¹ \à¹o ‹ì³¢¹
l¡üƒàÒ¹o?

(A) 2 5 34 2 2 2 4KMnO H O H SO+ + ®

 2 8 54 2 4 2 2MnSO K SO H O O+ + +

(B) K Cr O H O H SO2 2 7 2 2 2 43 4+ + ®

   Cr SO K SO H O2 4 3 2 4 27( ) + + +

              3 2O

(C) 2 23 6 2 2K Fe CN KOH H O[ ( ) ]+ + ®

    2 24 6 2 2K Fe CN H O O[ ( ) ]+ +

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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65.   Ag S NaCN2 + ® A;

  A B+ ®Zn ; B is a metal.

Hence A and B are respectively

(A) Na Zn CN Zn2 4[ ( ) ],

(B) Na Ag CN Ag[ ( ) ],2

(C) Na Ag CN Ag3 4[ ( ) ],

(D) None of the above

66. Which of the following pairs of metal 

is purified by Van Arkel method?

(A) V and In

(B) Zr and Ti

(C) Th and Au

(D) None of the above

67. The volume strength of 1 5× ( )N  H O2 2

solution is

(A) 8·4

(B) 8·8

(C) 4·8

(D) None of the above

68. Which of the following is an example 

of oxidizing property of H O2 2?

(A) 2 5 34 2 2 2 4KMnO H O H SO+ + ®

 2 8 54 2 4 2 2MnSO K SO H O O+ + +

(B) K Cr O H O H SO2 2 7 2 2 2 43 4+ + ®

   Cr SO K SO H O2 4 3 2 4 27( ) + + +

              3 2O

(C) 2 23 6 2 2K Fe CN KOH H O[ ( ) ]+ + ®

    2 24 6 2 2K Fe CN H O O[ ( ) ]+ +

(D) None of the above



69. >ãìW¡¹ ëA¡à>[i¡ [ó¡l¡üÅà> [³Åøo [ÒÎàì¤ š[¹[W¡t¡?

(A) Na CO NaHCO2 3 3+ &¹ [³Åøo

(B) K CO Na CO2 3 2 3+ &¹ [³Åøo

(C) K CO NaHCO2 3 3+ &¹ [³Åøo

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

70. ³àÒüìyû¡àA¡Îô[³A¡ º¤ìo¹ Î}ìA¡t¡ Òº

(A) Na NH HPO( )4 4

(B) Na HPO2 4

(C) K HPO2 4

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

71. Û¡à¹ ‹àtå¡P¡[º¹ Q>ìŒ¹ Î[k¡A¡ yû¡³[i¡ Òº

(A) Li < Na < K < Pb

(B) Rb < K < Na < Li

(C) Li < K < Na < Rb

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

72. ë™ ë™ïK ë\àØl¡[i¡ \ºãÚ ‰¤ìo &A¡ÎìU =àA¡ìt¡
šàì¹ >à ëÎ[i¡ Òº

(A) NaHCO3 &¤} NaOH

(B) Na CO2 3 &¤} NaHCO3

(C) Na CO2 3 &¤} NaOH

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

/15 21 [ P.T.O.

69. Which of the following is known as

fusion mixture?

(A) Mixture of Na CO NaHCO2 3 3+

(B) Mixture of K CO Na CO2 3 2 3+

(C) Mixture of K CO NaHCO2 3 3+

(D) None of the above

70. The formula of microcosmic salt is

(A) Na NH HPO( )4 4

(B) Na HPO2 4

(C) K HPO2 4

(D) None of the above

71. The correct order of densities of

alkali metals is

(A) Li < Na < K < Pb

(B) Rb < K < Na < Li

(C) Li < K < Na < Rb

(D) None of the above

72. The pair of compound which cannot

exist together in aqueous solution is

(A) NaHCO3 and NaOH

(B) Na CO2 3 and NaHCO3

(C) Na CO2 3 and NaOH

(D) None of the above



73. ë¤à¹àìG¹ ³ì‹¸ ë¤à¹ì>¹ ÎìU ™åv¡û¡ ÒàÒül¡ö[Gº
Nøç¡ìš¹ Î}J¸à Òº

(A) 4

(B) 5

(C) 6

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

74. >ãìW¡¹ ëA¡à>[i¡¹ ÒüìºC¡ö> [¤>¸àÎ "Ñ¬à®¡à[¤A¡ >Ú?

(A) Cr

(B) Pd

(C) Pt

(D) Hg

75. Sc Si O2 2 7&¹ ëÅøoã[i¡ Òº

(A) "ì=¢à-[Î[ºìA¡i¡

(B) šàÒüì¹à-[Î[ºìA¡i¡

(C) Î}¤õv¡A¡à¹ [Î[ºìA¡i¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

76. >ãìW¡¹ ëA¡à>[i¡ "¸àºàÒüºàÒül¡?

(A) Al C4 3

(B) BaC2

(C) Mg C2 3

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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73. The number of hydroxyl group

attached to boron in borax is

(A) 4

(B) 5

(C) 6

(D) None of the above

74. Which of the following does not have 

abnormal electronic configuration?

(A) Cr

(B) Pd

(C) Pt

(D) Hg

75. Sc Si O2 2 7 is a class of

(A) ortho-silicate

(B) pyro-silicate

(C) cyclic silicate

(D) None of the above

76. Which of the following is allylide?

(A) Al C4 3

(B) BaC2

(C) Mg C2 3

(D) None of the above



77. &A¡[i¡ º¤o CuCO3&¹ [¤\à¹o [ÅJàÚ
ë¤à¹àGP¡[i¡ š¹ãÛ¡à¹ Î³Ú P¡[i¡¹ "[”z³ ¤o¢[i¡ Òº

(A) >ãº

(B) ÒàºA¡à >ãº

(C) ºàº

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

78. šà¹ì\ì>i¡ "àÚ>, XeO4
4-  [i¡ìA¡ ít¡¹ã A¡¹à ™àÚ

(A) "[Gì\ì>¹ ÎìU Î¹àÎ[¹ Xe &¹ [¤[yû¡ÚàÚ

(B) "[Gì\ì>¹ ÎìU XeF6&¹ [¤[yû¡ÚàÚ

(C) XeF6ëA¡ Û¡à¹ãÚ ³à‹¸ì³ "à‰¢[¤ìÅÃÈo A¡ì¹

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

79. >ãìW¡¹ ëA¡à>ô ë™ïK[i¡ l¡üv¡œ¡ A¡ì¹ >àÒüìi¡öàì\>
l¡àÒü"GàÒül¡ šøÑñt¡ A¡¹à ™àÚ >à?

(A) KNO3

(B) Pb NO( )3 2

(C) Cu NO( )3 2

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

80. &A¡[i¡ ÎàÒü[AÃ¡A¡ i¡öàÒüì³i¡àó¡Îó¡[¹A¡ "¸à[Îìl¡
P—O—P ¤Þê¡ì>¹ Î}J¸à Òº

(A) 2

(B) 3

(C) 0

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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77. During borax bead test of a salt 

CuCO3 in reducing flame, the final

colour of bead is

(A) blue

(B) light blue

(C) red

(D) None of the above

78. The perxenate ion XeO4
4-  can be

prepared by

(A) direct reaction of Xe with oxygen

(B) reaction of XeF6 with oxygen

(C) hydrolysis of XeF6 in basic

medium

(D) None of the above

79. Nitrogen dioxide is not produced on

heating of which of the following

compounds?

(A) KNO3

(B) Pb NO( )3 2

(C) Cu NO( )3 2

(D) None of the above

80. In a cyclic trimetaphosphoric acid

the number of P—O—P bond is

(A) 2

(B) 3

(C) 0

(D) None of the above



81. >ãìW¡¹ "àÚ>P¡[º¹ ³ì‹¸ 4 7f  "àÚ> ™åKº[i¡ Òº

(A) Dy Sm3 2+ +,

(B) Tb Eu4 2+ +,

(C) Eu Sm3 2+ +,

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

82. >ãìW¡¹ ëA¡à> º¸à”‚>àÒül¡ "àÚ>[i¡ l¡àÚàì³Kì>[i¡A¡?

(A) Lu3+

(B) Tm3+

(C) Ce 2+

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

83. ™J> Q> H SO2 4ëA¡ KMnO4&¹ ÎìU ë™àK
A¡¹à ÒÚ, &A¡[i¡ ë™ïK X ít¡¹ã ÒÚ, ™à t¡àš
šøìÚàìK [¤ìÑ£¡à¹oÎÒ [¤®¡à[\t¡ ÒìÚ Y ët¡
š[¹ot¡ ÒÚ¡ú ë™ïK X &¤} Y Òº ™=àyû¡ì³

(A) Mn O MnO2 7 2,

(B) Mn O Mn O2 2 3,

(C) MnSO Mn O4 2 3,

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

84. ( )NH Cr O4 2 2 7ëA¡ ™J> "àP¡ì>¹ A¡àì\
¤¸¤Òà¹ A¡¹à ÒÚ, t¡J> Î¤å\ ¤ìo¢¹ ë™ šàl¡ül¡à¹[i¡ 
¤àt¡àìÎ áØl¡àÚ, t¡à Òº

(A) CrO3

(B) Cr O2 3

(C) Cr O2 4

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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81. Among the following ions, the 4 7f

ion pair is

(A) Dy Sm3 2+ +,

(B) Tb Eu4 2+ +,

(C) Eu Sm3 2+ +,

(D) None of the above

82. Which of the following lanthanide

ions is diamagnetic?

(A) Lu3+

(B) Tm3+

(C) Ce 2+

(D) None of the above

83. When concentrated H SO2 4 is added

to KMnO4, a compound X is formed,

which decomposed explosively on

heating formed Y. The compounds

X and Y respectively are

(A) Mn O MnO2 7 2,

(B) Mn O Mn O2 2 3,

(C) MnSO Mn O4 2 3,

(D) None of the above

84. When ( )NH Cr O4 2 2 7 is used in

fireworks, the green coloured

powder blown in air is

(A) CrO3

(B) Cr O2 3

(C) Cr O2 4

(D) None of the above



85. ë™ ë™ïK[i¡ 18-ÒüìºC¡ö> [>Ú³[i¡ ë³ì> W¡ìº t¡à
Òº

(A) Mn CO( )3

(B) Fe CO( )4

(C) V CO( )6

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

86. Co CO4 12( )  ë™ïìK ë³ài¡ ‹àtå¡-‹àtå¡ ¤Þê¡ì>¹
Î}J¸à[i¡ Òº

(A) 4

(B) 5

(C) 6

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

87. >ãìW¡¹ ëA¡à>[i¡¹ C—O ¤Þê¡> íƒQ¢¸ Î¤¢à[‹A¡?

(A) [ ( ) ]Fe CO 4
2-

(B) [ ( ) ]Ni CO 4

(C) [ ( ) ]Co CO 4
-

(D) [ ( ) ]Mn CO 6
+

88. >ãìW¡¹ ëA¡à>[i¡¹ Îà³t¡[ºA¡ ¤K¢àAõ¡[t¡ Kk¡> "àìá?

(A) [ ]PtCl4
2-

(B) [ ]NiCl4
2-

(C) [ ( ) ]Ni CO 4

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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85. The compound which obeys

18-electron rule is

(A) Mn CO( )3

(B) Fe CO( )4

(C) V CO( )6

(D) None of the above

86. The total number of metal-metal

bond in compound Co CO4 12( )  is

(A) 4

(B) 5

(C) 6

(D) None of the above

87. Which of the following has longest

C—O bond length?

(A) [ ( ) ]Fe CO 4
2-

(B) [ ( ) ]Ni CO 4

(C) [ ( ) ]Co CO 4
-

(D) [ ( ) ]Mn CO 6
+

88. Which of the following has a square

planar geometry?

(A) [ ]PtCl4
2-

(B) [ ]NiCl4
2-

(C) [ ( ) ]Ni CO 4

(D) None of the above



89. >ãìW¡¹ ëA¡à> \i¡ãº ë™ïK[i¡ \¸à[³[t¡A¡ Î³à¤Ú¤t¡à
šøƒÅ¢> A¡ì¹ >à [A¡”ñ "àìºàA¡ Î³à¤Ú¤t¡à šøƒÅ¢>
A¡ì¹?

(A) [ ( ) ]Co en 3

(B) [ ( ) ]Cr gly 3

(C) [ ( ) ]Co NH Cl3 3 3

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

90. >ãìW¡¹ ëA¡à>[i¡ &[–i¡-A¡¸àXà¹ ë™ïK [ÒÎàì¤
¤¸¤Òà¹ A¡¹à ÒÚ?

91. >ãìW¡¹ ëA¡à>[i¡ SN1 "[®¡³åìJ A¡³ Î[yû¡Ú?
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89. Which of the following complexs

does not show geometrical

isomerism but it shows optical

isomerism?

(A) [ ( ) ]Co en 3

(B) [ ( ) ]Cr gly 3

(C) [ ( ) ]Co NH Cl3 3 3

(D) None of the above

90. Which of the following is considered

to be an anti-cancer compound?

91. Which of the following is least

reactive towards SN1?

(A)

(B)

(C)

(D) None of the above

Pt
Cl Cl

ClNH3

Pt
Cl

ClNH3

NH3

Pt
Cl

Cl NH3

NH3

–

l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

(A)

(B)

(C)

(D)

Pt
Cl Cl

ClNH3

Pt
Cl

ClNH3

NH3

Pt
Cl

Cl NH3

NH3

–

(A)

(C)

Br

(B)

Br

Br

(D)

Br

(A)

(C)

Br

(B)

Br

Br

(D)

Br



92. >ãìW¡¹ [¤[yû¡ÚàÚ

³åJ¸ í\¤ ë™ïK P Òº

(A) CH CH2 2=

(B) Ph CH CH OH— — —2 2

(C) Ph CH CH— = 2

(D) CH CH OH3 2—

93. Û¡à¹A¡ìŒ¹ yû¡³[i¡ Òº

(A) IV I III II< < <

(B) IV III I II< < <

(C) II I IV III< < <

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

94. >ãìW¡¹ P¡[º¹ ³ì‹¸ Î¤ìW¡ìÚ A¡³ [Ñ‚[t¡Åãº
ë¹ì\àì>X Kk¡>[i¡ Òº
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92. In the following reaction

the main organic compound P is

(A) CH CH2 2=

(B) Ph CH CH OH— — —2 2

(C) Ph CH CH— = 2

(D) CH CH OH3 2—

93. The order of basicity of

is

(A) IV I III II< < <

(B) IV III I II< < <

(C) II I IV III< < <

(D) None of the above

94. Among the following, the least stable 

resonance structure is

[Ph—CH —CH —N—CH —CH ] OH2 2 2 3
Å

CH3

CH3

P
D [Ph—CH —CH —N—CH —CH ] OH2 2 2 3

Å

CH3

CH3

P
D

I II III IV

NH2

NO2

NH2

N N

H

I II III IV

NH2

NO2

NH2

N N

H

(A)

(B)

(C)

(D)

Å

N
Å O

O

Å N
Å O

O

Å N
Å O

O

N
Å O

O

Å

(A)

(B)

(C)

(D)

Å

N
Å O

O

Å N
Å O

O

Å N
Å O

O

N
Å O

O

Å



95. A¡à¤¢"¸à>àÚì>¹ Îå[Ñ‚[t¡

ë™ yû¡³[i¡ ">åÎ¹o A¡ì¹, ëÎ[i¡ Òº

(A) III IV I II< < <

(B) I II IV III< < <

(C) IV III II I< < <

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

96. šøƒv¡ ë™ïKP¡[º¹ ³ì‹¸ ë™ ƒå[i¡ "àÚ>àÒüì\Åà>,
&A¡Òü A¡àì¤à¢A¡¸ài¡àÚ> l¡ü;šÄ A¡ì¹ ëÎP¡[º Òº :

(A) a c,

(B) a b,

(C) b d,

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

97. >ãìW¡¹ ëA¡à>ô [A¡ìi¡à>[i¡¹ [‡ì³¹ç¡ °à³ìA¡¹ ³à>
Î¤¢à[‹A¡?
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95. The stability of carbanions

follows the order

(A) III IV I II< < <

(B) I II IV III< < <

(C) IV III II I< < <

(D) None of the above

96. Among the given compounds,

choose the two that yield same

carbocation on ionization :

(A) a c,

(B) a b,

(C) b d,

(D) None of the above

97. Dipole moment value of which

ketone is maximum?

CH —CH —CH —CH3 2 2 2

I

CH —CH—CH —CH3 2 3

II

(CH ) C3 3

III

CH —C(C H )—CH —CH3 6 5 2 3

IV

,

,

CH —CH —CH —CH3 2 2 2

I

CH —CH—CH —CH3 2 3

II

(CH ) C3 3

III

CH —C(C H )—CH —CH3 6 5 2 3

IV

,

,

Br

Br

Br Br

a b c d

Br

Br

Br Br

a b c d

(A)

(C)

(B)

(D)

O

O
O

O

(A)

(C)

(B)

(D)

O

O
O

O



98. >ãìW¡¹ ¹ê¡šà”z¹[i¡ Î´šÄ A¡¹à¹ \>¸ l¡üš™åv¡û¡
[¤A¡à¹A¡[i¡ Òº

(A) LiAlH4 Òü=à¹ ³à‹¸ì³

(B) NaBH4 C H OH2 5  ³à‹¸ì³

(C) (i) DIBAL-H, (ii) H O2

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

99. >ãìW¡¹ [¤[yû¡Úà[i¡ìt¡

X &¤} Y Òº ™=àyû¡ì³
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98. The suitable reagent for performing

the following transformation

is

(A) LiAlH4 in ether

(B) NaBH4 in C H OH2 5

(C) (i) DIBAL-H, (ii) H O2

(D) None of the above

99. In the following reaction

X and Y are respectively

CH —(CH ) —C—OC H3 2 9 2 5

CH —(CH ) —CHO3 2 9

O

CH —(CH ) —C—OC H3 2 9 2 5

CH —(CH ) —CHO3 2 9

O

CH —C>C—H3

Hg
+2

dil. H SO2 4

X
conc. H SO2 4

D
Y

CH —C>C—H3

Hg
+2

dil. H SO2 4

X
conc. H SO2 4

D
Y

(A)

(B)

(C)

(D) None of the above

CH COCH ,3 3 

CH3 CH3

CH3

CH —CH —CH—O ,3 2

CH3

CH —CH=CH—OH,3

CH —CH=CH—OSO H3 3

l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

(A)

(B)

(C)

(D)

CH COCH ,3 3 

CH3 CH3

CH3

CH —CH —CH—O ,3 2

CH3

CH —CH=CH—OH,3

CH —CH=CH—OSO H3 3



100. >ãìW¡¹ [¤[yû¡ÚàÚ l¡ü;šÄ ³åJ¸ [¤[yû¡Úà\àt¡ šƒà=¢[i¡

Òº

101.

[¤A¡à¹A¡ ( )A  Òº

(A) LAH (B) HI + P

(C) NaAlH4 (D) B H H O2 6 2/

102. A¡Û¡ t¡àš³àyàÚ >ãìW¡¹ ë™ïK[i¡¹ 1H-NMR

¤o¢àºãìt¡ [Î}Kìºiô¡ ë¹ì\àì>ìX¹ ë™ Î}J¸à
ëƒJàÚ

t¡à Òº

(A) 3

(B) 2

(C) 1

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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100. The major product formed in the

following reaction

is

101.

The reagent ( )A  is

(A) LAH (B) HI + P

(C) NaAlH4 (D) B H H O2 6 2/

102. At room temperature, the number of 

singlet resonance observed in the
1H-NMR spectrum of the following

compound

is

(A) 3

(B) 2

(C) 1

(D) None of the above

(A)

(B)

(C)

(D) None of the above

BrBr

Br

Br

Br

Br

NBS
(2 eqv)
hn, CCl4

NBS
(2 eqv)
hn, CCl4

l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

(A)

(B)

(C)

(D)

BrBr

Br

Br

Br

Br

O O

OH

O O

HO

O

Reagent

(A)

O O

OH

O O

HO

O (A)

[¤A¡à¹A¡

Me C—C—N3

O

Me

Me
Me C—C—N3

O

Me

Me



103. ë™ ë™ïK[i¡¹ \>¸ A¡à¤¢[>º stretch ing

frequence ( )nc = 0  Îì¤¢àZW¡ ëÎ[i¡ Òº

104. [>³—[º[Jt¡ ë™ïKP¡[º¹ ³ì‹¸ C C=  ¤Þê¡ì>¹ IR
stretch ing fre quency-&¹ yû¡³[i¡

Òº

(A) I II III> >

(B) III II I> >

(C) III I II> >

(D) II III I> >

105. C H NO3 7  Î}ìA¡t¡[¤[ÅÊ¡ ë™ïìK¹ 1H-NMR

¤o¢àºã¹ [>³—[º[Jt¡ í¤[ÅÊ¡¸P¡[º ëƒJàÚ :

  dH 6 50 2 25 1 10× × ×( ), ( ), ( )brs q t

[>³—[º[Jt¡ ëA¡à> ë™ïK[i¡ &Òü t¡=¸P¡[º¹ ÎìU
ë³ìº?
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103. The carbonyl stretching frequence 

( )nc = 0  is highest for the compound

104. The correct order of IR stretching

frequency of the C C=  bond in the

following compound

is

(A) I II III> >

(B) III II I> >

(C) III I II> >

(D) II III I> >

105. The 1H-NMR spectrum of a

compound with molecular formula 

C H NO3 7  shows the following

features :

  dH 6 50 2 25 1 10× × ×( ), ( ), ( )brs q t

Which of the following is an

agreement with this information?

(A)

(B)

(C)

(D)

CH —C—OH3

CH —C—Cl3

CH —C—NH3 2

CH —C—H3

O

O

O

O

(A)

(B)

(C)

(D)

CH —C—OH3

CH —C—Cl3

CH —C—NH3 2

CH —C—H3

O

O

O

O

I II III
I II III

(A)

(B)

(C)

(D)

(CH ) C=NOH3 2

CH COCH NH3 2 2

CH CH CONH3 2 2

H—C—N( )CH3 2

O

(A)

(B)

(C)

(D)

(CH ) C=NOH3 2

CH COCH NH3 2 2

CH CH CONH3 2 2

H—C—N( )CH3 2

O



HOH

OH
Me

H

Me

OH
Me

H

Me
OH

Me
HO

Me

Me

OHH H

H Me H

OH
OH

H

P Q R S

HOH

OH
Me

H

Me

OH
Me

H

Me
OH

Me
HO

Me

Me

OHH H

H Me H

OH
OH

H

P Q R S

106. 2-ëAÃ¡àì¹àÒü=à>ìº¹ Î¤¢à[‹A¡ Îå[Ñ‚t¡ A¡>ó¡¹ì³Å>[i¡
Òº

107. >ãìW¡ šøƒv¡ ë™ïK[i¡ìt¡ ƒå[i¡ A¡àÒü¹àº ëA¡–ƒø (C-1

&¤} C-6)&¹ A¡>[ó¡Kàì¹Å>P¡[º

Òº

(A) 1R, 6R

(B) 1R, 6S

(C) 1S, 6S

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

108. [>³—[º[Jt¡ [>l¡ü³¸à> "[®¡ìÛ¡šP¡[º¹ ³ì‹¸
ë³ìÎà-2,3-[¤l¡üìi¡>l¡àÒü"º-&¹ ë\àØl¡[i¡

Òº

(A) P Q,

(B) P R,

(C) R S,

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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106. The most stable conformation of

2-fluroethanol is

107. The configurations at the two

asymmetric centres (C-1 and C-6) in 

the compound given below

are

(A) 1R, 6R

(B) 1R, 6S

(C) 1S, 6S

(D) None of the above

108. Among the following Newman

projections, the pair of

meso-2,3-butanediol

is

(A) P Q,

(B) P R,

(C) R S,

(D) None of the above

(A)

(B)

(C)

(D)

HH

H
OH

F

H

HH

H
OH

H

F

H

H

H

H

OH

OH

H

H

F

F

H

H

(A)

(B)

(C)

(D)

HH

H
OH

F

H

HH

H
OH

H

F

H

H

H

H

OH

OH

H

H

F

F

H

H

MeO

H

1
6

MeO

H

1
6



109. >ãìW¡¹ ë™ïìK¹ ƒå[i¡ Î´±à¤¸ [y³à[yA¡ "àÒüìÎà³à¹

Òº

(A) &>à>[Î*³à¹

(B) l¡àÚà[Ð¡[¹*³à¹

(C) ë¹ài¡à³à¹

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

110. >ãìW¡¹ [¤[yû¡ÚàÚ ³åJ¸ [¤[yû¡Úà\àt¡ šƒà=¢ P

   CH CH CH HOCl3 2— = + ® P

Òº

111.

³åJ¸ šƒà=¢ A Òº
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109. Two possible stereoisomers for below 

compound

are

(A) enantiomer

(B) diastereomers

(C) rotamers

(D) None of the above

110. The major product P of the following

reaction

      CH CH CH HOCl3 2— = + ® P

is

111.

The main product A is

H

HO H

CO H2

H

HO H

CO H2

(A)

(B)

(C)

(D)

CH —CH—CH3 3

OCl

CH —CH—CH OH3 2

Cl

CH —CH—CH Cl3 2

OH

None of the above

(A)

(B)

(C)

(D)

CH —CH—CH3 3

OCl

CH —CH—CH OH3 2

Cl

CH —CH—CH Cl3 2

OH

l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

COOK

COOK

Electrolysis
A

COOK

COOK

Electrolysis
A

(A)

(B)

(C)

(D) None of the above

(A)

(B)

(C)

(D) None of the above



112. ëšøàìšì>¹ l¡àÒüìAÃ¡à[¹ì>Åà> l¡ü;šÄ ë³ài¡
"àÒüìÎà³àì¹¹ Î}J¸à ([y³à[yA¡ "àÒüìÎà³à¹ÎÒ)
Òº

(A) 5

(B) 4

(C) 3

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

113. >ãìW¡¹ [¤[yû¡ÚàÚ [¤[yû¡Úà\àt¡ šƒà=¢ Î>àv¡û¡ A¡¹ :

[¤[yû¡Úà\àt¡ šƒà=¢[i¡/šƒà=¢P¡[º Òº

(A) d,l-2,3-l¡àÒül¡Úìi¡[¹*-[¤l¡üìi¡>

(B) ë³ìÎà-2,3,-l¡àÒül¡Úìi¡[¹*-[¤l¡üìi¡>

(C) d-2,3-l¡àÒül¡Úìi¡[¹*-[¤l¡üìi¡>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

114.

[¤[yû¡Úà\àt¡ ( )P  Òº
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112. The total number of isomers

(including stereoisomers) obtained

on dichlorination of propane is

(A) 5

(B) 4

(C) 3

(D) None of the above

113. Identify the product(s) in the

following reaction :

The product(s) is(are)

(A) d,l-2,3-dideutereo-butane

(B) meso-2,3-dideutereo-butane

(C) d-2,3-dideutereo-butane

(D) None of the above

114.

The product ( )P  is

C=C

CH3

CH3

H

H

D2

Pt
Product (S)

C=C

CH3

CH3

H

H

D2

Pt [¤[yû¡Úà\àt¡

Conc. H SO2 4
P

Conc. H SO2 4
P

(A)

(B)

(C)

(D)

Both (A) and (B)

None of the above

=

(A)

(B)

(C)

(D)

(A)  (B) &¤} l¡ü®¡ÚÒü

l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

=



115.

³åJ¸ šƒà=¢ Q Òº

116. ë™ ë™ïK[i¡ Î¤¢àìšÛ¡à "[‹A¡ ‰ç¡t¡®¡àì¤ SN1

[¤[yû¡Úà "[t¡yû¡³ A¡ì¹ ëÎ[i¡ Òº
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115.

The main product Q is

116. The compound which undergoes

SN1 reaction most rapidly is

C>C—CH3 (i) 2SiO BH2

(ii) CH COOH3

Q

C>C—CH3 (i) 2SiO BH2

(ii) CH COOH3

Q

(A)

(B)

(C)

(D)

CH=CH—CH3

CH CH2 2 3—CH —

CH=CHCH3

(A)

(B)

(C)

(D)

CH=CH—CH3

CH CH2 2 3—CH —

CH=CHCH3

(A)

(B)

(C)

(D)

Br

Br

CH2Br

Br

(A)

(B)

(C)

(D)

Br

Br

CH2Br

Br



117.

l¡üšì¹¹ [¤[yû¡ÚàÚ ³åJ¸ šƒà=¢ A Òº

118.

[¤[yû¡Úà\àt¡ ( )C  Òº
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117.

The major product A of the above

reaction is

118.

The product ( )C  is

(A)

(B)

(C)

(D) None of the above

SH

OH

SH

H

S

NaOH

aq. Ethanol

HS

H

H

Cl

A
(Major)

+

SH

H

NaOH

aq. Ethanol

HS

H

H

Cl

A +

SH

H(³åJ¸)

(A)

(B)

(C)

(D)

SH

OH

SH

H

S

l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

NO2

Br

KCN + aq. C H OH2 5

150°C
(C )

NO2

Br

KCN + aq. C H OH2 5

150°C
(C )

(A)

(B)

(C)

(D)

Br

COOH

NO2

CN

NO2

CN

None of the above

(A)

(B)

(C)

(D)

Br

COOH

NO2

CN

NO2

CN

l¡üšì¹¹ ëA¡à>[i¡Òü >Ú



119. >ãìW¡¹ [¤[yû¡ÚàÚ ³åJ¸ [¤[yû¡Úà\àt¡ Q

Òº

120. >ãìW¡¹ [¤[yû¡ÚàÚ

ë™ïK Y Òº

(A) E-[¤l¡üi¡-2-Òü>

(B) Z-[¤l¡üi¡-2-Òü>

(C) E-[¤l¡üi¡-2-Òü> &¤} Z-[¤l¡üi¡-2-Òü>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

121. >ãìW¡¹ [¤A¡à¹A¡ ëÎi¡P¡[º¹ ³ì‹¸ ëA¡à>[i¡
"¸à[>ìÎàº l¡ü;šÄ A¡ì¹?

(A) CH CHO CH MgBr3 3;

(B) C H OH NaOH CH I6 5 3; ;

(C) C H OH6 5 ; neutral FeCl3

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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119. The major product of the following

reaction

is

120. In the following reaction

the compound Y is

(A) E-but-2-ene

(B) Z-but-2-ene

(C) E-but-2-ene and Z-but-2-ene

(D) None of the above

121. Among the following sets of reagents 

which one produces anisole?

(A) CH CHO CH MgBr3 3;

(B) C H OH NaOH CH I6 5 3; ;

(C) C H OH6 5 ; neutral FeCl3

(D) None of the above

NH2

SO H3

Br /H O2 2

(excess)
Q

NH2

SO H3

Br /H O2 2

(excess)
Q

(A)

(B)

(C)

(D) None of the above

Br

NH2

HO S3

Br
NH2

Br

SO H3

NH2

Br

Br

(A)

(B)

(C)

(D)

Br

l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

NH2

HO S3

Br
NH2

Br

SO H3

NH2

Br

Br

Erythro-2,3-dibromobutane
KI

acetone
Y &¹àÒüì=øà- l¡àÒüì¤øàì³à[¤l¡ü i¡>2,3- ì KI

Y
¸à[Îìi¡à>



122. ³åJ¸ [¤[yû¡Úà\àt¡ Î>àv¡û¡ A¡¹¡ú

123.

[¤[yû¡Úà\àt¡ A Òº
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122. Identify the major product.

123.

The product A of the reaction is

(A)

(B)

(C)

(D) None of the above

O

OH
+H

Product

O

O

O

HO

O
O

(A)

(B)

(C)

(D)

O

O

O

HO

O
O

l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

O

OH
+H [¤[yû¡Úà\àt¡

NH2

OH

Glacial acetic acid

Zn-dust, reflux
A

(A)

(B)

(C)

(D) None of the above

NH2

O—C—CH3

O

NHCOCH3

OH

NHCOCH3

OCOCH3

NH2

OH

A
Zn- ‹å[º, [¹óÃ¡àG

ëNÃ[ÎÚàº    [Î[i¡A¡    ¸à[Îl¡¸à

(A)

(B)

(C)

(D)

NH2

O—C—CH3

O

NHCOCH3

OH

NHCOCH3

OCOCH3

l¡üšì¹¹ ëA¡à>[i¡Òü >Ú



124. >ãìW¡¹ [¤[yû¡Úà ÅõTìº Î¤¢ìÅÈ [¤[yû¡Úà\àt¡
šƒà=¢P¡[º

Òº

125. >ãìW¡¹ ëA¡à>[i¡ Îå[Ñ‚t¡ ÒàÒüìl¡öi¡ Kk¡> A¡¹ì¤?

126. >ãìW¡¹ ëA¡à>[i¡ A¡¸à[>\àì¹à [¤[yû¡ÚàÚ "}ÅNøÒ>
A¡ì¹?
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124. The end products of the following

reaction sequence

are

125. Which of the following will form

stable hydrate?

126. Which of the following undergoes

Cannizzaro reaction?

O

O

(i) I + NaOH, D2 

(ii) H+

(iii) D

O

O

(i) I + NaOH, D2 

(ii) H+

(iii) D

(A)

(B)

(C)

(D)

O

O

O

CHI ,3 

CHI ,3 

CHI ,3 

CO H2

CHO

CHI ,3 
CO H2

CO H2

(A)

(B)

(C)

(D)

O

O

O

CHI ,3 

CHI ,3 

CHI ,3 

CO H2

CHO

CHI ,3 
CO H2

CO H2

O

(A)

(B)

(C)

(D) All of the above

CCl CHO3

O

O

CF —C—CF3 3

O

O

(A)

(B)

(C)

(D)

CCl CHO3

O

O

CF —C—CF3 3

O

l¡üšì¹¹ Î¤P¡[ºÒü

(A)

(B)

(C)

(D) None of the above

CHO

N
CH3 CH3

CH —CH—CHO3

CH3

CH —CHO3

(A)

(B)

(C)

(D)

CHO

N
CH3 CH3

CH —CH—CHO3

CH3

CH —CHO3

l¡üšì¹¹ ëA¡à>[i¡Òü >Ú



127.

[¤[yû¡Úà\àt¡ šƒà=¢ A Òº

128.

[¤[yû¡Úà\àt¡ A Òº

129.

l¡ü;šÄ [¤[yû¡Úà\àt¡ šƒàì=¢¹ š[¹³àìo¹ Î[k¡A¡
yû¡³[i¡ Òº

(A) I II III> >

(B) II III I> >

(C) III I II> >

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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127.

The product A is

128.

The product A is

129.

The correct order of the amount of

yield of the products is

(A) I II III> >

(B) II III I> >

(C) III I II> >

(D) None of the above

CH —C—O—C H3 6 5

O
(i) CH MgBr (excess)3

(ii) +H O3

OH

A + CH —C—O—C H3 6 5

O
(i) CH MgBr (excess)3

(ii) +H O3

OH

A +

(A)

(B)

(C)

(D)

CH —C—OH3

O

CH —C—CH3 3

O

CH —C—CH3 3

OH

CH3

CH —CH—CH3 3

OH

(A)

(B)

(C)

(D)

CH —C—OH3

O

CH —C—CH3 3

O

CH —C—CH3 3

OH

CH3

CH —CH—CH3 3

OH

OH

NH2

HNO2 A
OH

NH2

HNO2 A

(A)

(B)

(C)

(D) None of the above

CHO

O

OH

OH

(A)

(B)

(C)

(D)

CHO

O

OH

OH

l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

NH2

HNO3

H SO2 4

288K

NH2

NO2

NH2

NO2

NH2

NO2

+ +

IIIIII

NH2

HNO3

H SO2 4

288K

NH2

NO2

NH2

NO2

NH2

NO2

+ +

IIIIII



130. >ãìW¡¹ ëA¡à>ô ë™ïK[i¡ >àÒüi¡öàÎ "¸à[Îìl¡¹ ÎìU
[¤[yû¡ÚàÚ c->àÒüìi¡öàìÎà ë™ïK ëƒÚ?

131. >ãìW¡¹ [¤[yû¡Úàìt¡ [¤[yû¡Úà\àt¡ ( )B  l¡ü;šÄ ÒÚ

B &¹ Kk¡>[i¡ Òì¤

132.

l¡üšì¹¹ [¤[yû¡Úà[i¡ìt¡ ³‹¸¤t¢¡ã ë™ïK[i¡ Òº

(A) [³=àÒüº "àÒüìÎàÎàÚà>àÒül¡

(B) [³=àÒüº "àÒüìÎàÎàÚàì>i¡

(C) [³=àÒüº >àÒü[i¡ö>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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130. Which of the following compounds

gives c-nitroso compound on

reaction with nitrous acid?

131. In the following reaction the

product ( )B  is obtained

the structure of B would be

132.

The intermediate compound in the

above reaction is

(A) methyl isocyanide

(B) methyl isocyanate

(C) methyl nitrene

(D) None of the above

(A)

(B)

(C)

(D) None of the above

—NH—CH3

(CH ) NH3 2

—N
CH3

CH3

NH2

NaNO /HCl2

Cold
A B

N
CH3

CH3

Mild acetic

(A)

(B)

(C)

(D)

—NH—CH3

(CH ) NH3 2

—N
CH3

CH3

l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

NH2

NaNO /HCl2

Cold
A B

N
CH3

CH3

³õƒå    à´ÃãA¡

(A)

(B)

(C)

(D) None of the above

—N=N— —N
CH3

CH3

—NH—NH—

—N=N—

—N

—N

CH3

CH3

CH3

CH3

H N2

(A)

(B)

(C)

(D)

—N=N— —N
CH3

CH3

—NH—NH—

—N=N—

—N

—N

CH3

CH3

CH3

CH3

H N2

l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

CH —C—Cl3

O
(1) NaN3

(2) D

(3) H O2

R—NH2

CH —C—Cl3

O
(1) NaN3

(2) D

(3) H O2

R—NH2



133. [>³—[º[Jt¡ [¤[yû¡ÚàÚ l¡ü;šÄ [¤[yû¡Úà\àt¡

[¤[yû¡Úà\àt¡ Q &¹ Kk¡>[i¡ Òº

134. º¸àA¡ìi¡à\ Î´šìA¢¡ ëA¡à>ô ¤v¡û¡¤¸[i¡ Î[k¡A¡?

(A) B-D-K¸àºàA¡ìi¡àì\¹ C-1 ™åv¡û¡ "àìá
B-D-NÃåìA¡àì\¹ C-4 &¹ ÎìU

(B) ÒüÒà &A¡[i¡ "-[¤\à¹A¡ ÎåKà¹

(C) ÒüÒà [³l¡üi¡àì¹àìi¡Å> šøƒÅ¢> A¡ì¹ >à

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

135. šøƒv¡ "¸à[³ì>à "¸à[Îl¡[i¡¹ Î³t¡[Øl¡; [¤–ƒå

Òº

(A) 5·0

(B) 3·0

(C) 5·5

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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133. For the reaction below

the structure of the product Q is

134. Which statement is correct about

lactose?

(A) C-1 of B-D-galactose linked with 

C-4 of B-D-glucose

(B) It is a non-reducing sugar

(C) It does not show mutarotation

(D) None of the above

135. The isoelectric point of the given

amino acid

is

(A) 5·0

(B) 3·0

(C) 5·5

(D) None of the above

CN
(1) PhMgBr, THF

(2) H +O3

Q
CN

(1) PhMgBr, THF

(2) H +O3

Q

(A)

(B)

(C)

(D) None of the above

Ph

OH

Ph

OH

Ph

CN

(A)

(B)

(C)

(D)

Ph

OH

Ph

OH

Ph

CN

l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

HO C—CH —CH —CH—CO H2 2 2 2

(^=4) (^=2)
NH3
Å

(^=9)

HO C—CH —CH —CH—CO H2 2 2 2

(^=4) (^=2)
NH3
Å

(^=9)



136. šøƒv¡ *Îàì\à> ( )X  šà*Úà ™àÚ ™à¹ ‡à¹à

(A) D-NÃåìA¡à\

(B) D-³¸àì>à\

(C) D-óøå¡ìC¡à\

(D) l¡üšì¹¹ Î¤P¡[º

137. [t¡>[i¡ [¤[®¡Ä "¸à[³ì>à "¸à[Îl¡ [ƒìÚ ít¡¹ã Î´±à¤¸ 
i¡öàÒüìšši¡àÒüìl¡¹ Î}J¸à Òº

(A) 4

(B) 5

(C) 6

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

138. DNA &¹ ™åOµ ëšòW¡àì>à Kk¡>àAõ¡[t¡ ë™
"šàì¹Åì>¹ A¡à¹ìo ëÎ[i¡ Òº

(A) ®¡¸à> l¡à¹ *ÚàºÎô ¤º

(B) l¡àÒüìšàº-l¡àÒüìšàº "àA¡È¢o

(C) ÒàÒüìl¡öàì\> ¤Þê¡>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

139. ë™ "¸à[³ì>à "¸à[Îl¡[i¡ Òü>ìl¡àº Nøç¡š ‹à¹o A¡ì¹
ëÎ[i¡ Òº

(A) [i¡öšìi¡àó¡à>

(B) i¡àÒüì¹à[Î>

(C) ëšøà[º>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

140. >ãìW¡¹ ëA¡à>[i¡ >>->à¹A¡[i¡A¡ ë¤ƒ>à>àÅA¡?

(A) ³¹[ó¡>

(B) ëA¡àìl¡Òü>

(C) ëÒì¹àÒü>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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136. The given osazone ( )X  can be

obtained by

(A) D-glucose

(B) D-mannose

(C) D-fructose

(D) All of the above

137. The number of possible tripeptides

formed by three different amino

acids is

(A) 4

(B) 5

(C) 6

(D) None of the above

138. The reason for double-helical

structure of DNA is the operation of

(A) van der Waals force

(B) dipole-dipole interactions

(C) hydrogen bonding

(D) None of the above

139. The amino acid which contains

indole group is

(A) tryptophan

(B) tyrosine

(C) proline

(D) None of the above

140. Which of the following is a

non-narcotic analgesic?

(A) Morphine

(B) Codeine

(C) Heroin

(D) None of the above

C=N—NH—Ph

CH=N—NH—Ph

HO H
H OH
H OH

CH OH2

(X )

C=N—NH—Ph

CH=N—NH—Ph

HO H
H OH
H OH

CH OH2

(X )



141. >ãìW¡¹ ëA¡à>ô š[¹Zá>A¡à¹ã l¡üšàƒà>[i¡ J¹\ìº*
A¡à\ A¡ì¹?

(A) ëÎà[l¡Úà³ [Ð¡Úàì¹i¡

(B) ëÎà[l¡Úà³ *[ºìÚi¡

(C) ëÎà[l¡Úà³ "¸àº[A¡º ë¤>[\> Îàºìó¡àì>i¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

142. >ãìW¡¹ ëA¡à>[i¡ ¤øl¡ ëÑšC¡öà³ "¸à[–i¡¤àìÚà[i¡A¡ >Ú?

(A) ëi¡i¡öàÎàÒü[AÃ¡>

(B) ëAÃ¡à¹à³ìó¡[>A¡º

(C) "ìóÃ¡àGà[Î>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

143. >ãìW¡¹ ëA¡à>[i¡ ƒèÈoA¡à¹ã [ÒÎàì¤ No¸ Òì¤ >à?

(A) NO2

(B) O3

(C) CH4

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

144. >ãìW¡¹ ëA¡à>[i¡ "àìºàA¡¹àÎàÚ[>A¡ Ñ¶Kô ít¡¹ãìt¡
\[Øl¡t¡ >Ú?

(A) NO

(B) O3

(C) C Hx y

(D) SO2

145. >ãìW¡¹ ëA¡à>ô ¤v¡û¡¤¸[i¡ Î[k¡A¡ >Ú?

(A) šà>ãÚ \ìº¹ pH Ò*Úà l¡ü[W¡t¡ 5·5 &¤}
9·5 &¹ ³ì‹¸

(B) DO &¹ Q>Œ 6·0 &¹ A¡³ ³àìá¹ ¤õ[‡ý¡¹
\>¸ ®¡àº

(C) š[¹ÑHà¹ \ìº¹ BOD &¹ ³à>
5 ppm &¹ A¡³ Òì¤

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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141. Which of the following cleaning

agents works in hard water also?

(A) Sodium stearate

(B) Sodium oleate

(C) Sodium alkyl benzene

sulphonate

(D) None of the above

142. Which of the following is not a broad 

spectrum antibiotic?

(A) Tetracycline

(B) Chloramphenicol

(C) Ofloxacin

(D) None of the above

143. Which of the following is not

considered to be a pollutant?

(A) NO2

(B) O3

(C) CH4

(D) None of the above

144. Which of the following is not

involved in the formation of

photochemical smog?

(A) NO

(B) O3

(C) C Hx y

(D) SO2

145. Which of the following statements is

not true?

(A) pH of drinking water should be

between 5·5 and 9·5

(B) Concentration of DO below 6·0

is good for the growth of fish

(C) Clean water would have BOD

value of less than 5 ppm

(D) None of the above



146. "àìÎ¢[>A¡ +È‹ šø‹à>t¡ ¤¸¤Òê¡t¡ ÒÚ ™à¹
[W¡[A¡;Îà¹ \>¸

(A) \>[l¡Îô

(B) i¡àÒüó¡ìÚl¡

(C) [Î[ó¡[ºÎô

(D) A¡ìº¹à

147. TiF6
2-, CoF6

3-, CuCl2 &¤} NiCl4
2-&¹

³ì‹¸ ëA¡à> ë\àØl¡[i¡ ¤o¢Òã>?

(A) CoF6
3-  &¤} NiCl4

2-

(B) Cu Cl2 2 &¤} NiCl4
2-

(C) TiF6
2-  &¤} CuCl2

(D) TiF6
2-  &¤} CoF6

3-

148. >ãìW¡¹ ëA¡à>[i¡¹ Îå[Ñ‚[t¡ Î¤ìW¡ìÚ A¡³ &¤} ÒüÒà¹
"[ÑzŒ l¡àl¡üi¡óå¡º?

(A) SnI2

(B) CI4

(C) GeI4

(D) PbI4

149. ëA¡[¹ÚàÎ š‡ý¡[t¡ìt¡ &A¡[i¡ í\¤ ë™ïK Îàºó¡àì¹¹
š[¹³àšìo ‹å³àÚ³à> HNO3 ¤¸¤Òà¹ A¡¹à ÒÚ¡ú
&Òü [¤[yû¡Úà[i¡ìt¡ Îàºó¡à¹ ¹ê¡šà”z[¹t¡ ÒÚ

(A) SO4
2-

(B) SO3
2-

(C) SO3

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

150. Mn+2, Ni+2, Cu+2 &¤} Hg +2 "àÚ>P¡[º¹ 

"à[´ÃA¡ \ºãÚ ‰¤ìo H S2  K¸àÎ š[¹W¡àº>à
A¡¹ìº Îàºó¡àÒül¡ [ÒÎàì¤ "‹@[Û¡œ¡ ÒÚ

(A) MnS &¤} CuS

(B) CuS &¤} HgS

(C) MnS &¤} NiS

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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146. Arsenic drugs are mainly used in the 

treatment of

(A) jaundice

(B) typhoid

(C) syphilis

(D) cholera

147. Amongst TiF6
2- , CoF6

3- , CuCl2 and 

NiCl4
2- , which are the colourless

pair?

(A) CoF6
3-  and NiCl4

2-

(B) Cu Cl2 2 and NiCl4
2-

(C) TiF6
2-  and CuCl2

(D) TiF6
2-  and CoF6

3-

148. Which of the following is least stable 

and its existence is doubtful?

(A) SnI2

(B) CI4

(C) GeI4

(D) PbI4

149. During estimation of sulphur in

an organic compound by Carius

method fuming HNO3 is used. In

this reaction sulphur is converted

into

(A) SO4
2-

(B) SO3
2-

(C) SO3

(D) None of the above

150. Passing H S2  gas into a mixture of 

Mn+2, Ni+2, Cu+2 and Hg +2 ions

in an aqueous acidified solution

precipitates

(A) MnS and CuS

(B) CuS and HgS

(C) MnS and NiS

(D) None of the above
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